Potencias de 10 (F)

7,025 = 10

8,687 = 100

3,509 =100

1,674+ 10

1,351 +10

8,257 =100

1,192 1000

6,736 -+ 1000

1,381 1000

7,2+ 1000

Calcule los siguientes cocientes.

7,607 =100

0,407 = 1000

0,128 = 1000

9,161 =100

0,048 = 10

8,551 =10

4,374 +1000

6,204 = 100

9,884 =100

8,091 +100
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Potencias de 10 (F) Respuestas

7,025 10
0,7025
8,687 = 100
0,08687
3,509 = 100
0,03509
1,674 =10
0,1674
1,351+ 10
0,1351
8,257 = 100
0,08257
1,192 = 1000
0,001192
6,736 - 1000
0,006736
1,381 = 1000
0,001381
7,2+ 1000
0,0072

Calcule los siguientes cocientes.

7,607 =100
0,07607
0,407 = 1000
0,000407
0,128 = 1000
0,000128
9,161 =100
0,09161
0,048 = 10
0,0048
8,551+ 10
0,8551
4,374+ 1000
0,004374
6,204 = 100
0,06204
9,884 + 100
0,09884
8,091 = 100
0,08091
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